Tools required
*Tools used
¢ Narzedzia do montazu
cpdaviiacdaslyd
* Cong cu bat budc
eV — L OfFH
e =9 AL
* Der Einsatz von Werkzeugen
* ichonb3oBaHMe UHCTPYMEHTOB
* El uso de herramientas
e L'utilisation des outils
* Het gebruik van instrumenten
e L'uso di strumenti
&l 5340 aladtule
* A utilizacao de ferramentas
* Penggunaan alat-alat
*fEHATHR

17"(430mm)

24.6"(625mm)

14.9"{380mmimax .

,2"(52mm)min

~

E-

=0

(M6x25)-4pcs

@) (M8x45)-4pcs

@

=)

(»15x$8.2x10)-4pcs

(M6x15)-8pcs

(M6)-8pcs

G

- Brmmmmmme (7x70)-5pcs

H- [ (d10xd7x66)-5pcs

i» (M6x8)-2pcs

@ (®17x10.2x5)-4pcs

/

Thay di va chinh sira thudc vé quyén ctia cong ty chiing tdi, néu chwa nhan
dwgc théng bao chinh thirc tir cong ty chiing téi , xin dirng thay déi chinh
sira phan thuyét minh vé Iap dat .

Pr p da prawo do wpr ia zmian w tresci ponizszej instrukcji.
Wszelkie prawa do zmiany tresci instrukcji sa zastrzezone z wyjatkiem
oficjalnego zezwolenia.

uSEnvaIudng lunisdiulsudlagfianisfasdvaiuadiuuizan viudl
Winlddaudasudlaniavind1Taefd ldfuaygya

We reserve the right to modify or alter installation instructions, which is
not allowed to do any modification or alteration without formally notice.

BERUZEEQEFICOVTHEENASHCEL, BNRUISOERE
HERBFGVWHRE, BANGIRAREZBERVERTERL,

AT UG AL E Ao glom E ALY T4 T J71A A
TSRS R A R

Unsere Firma hat das Recht fiir Anderung und Abéderung. Ohne offizielle
Mitteilung von uns éndern Sie die Montageanweisung bittte nicht.

MpaBo M3aMeHeHHs M NnepeMeHbl OTHOCUTCA K Halwewn KoMnaHum, 6e3 nonyyenns

¢ o OoT Hawen He Hapo n "
nepemeHbl 4aHHOH MHCTPYKLMM NO MOHTaXYy.

El derecho de modificar y iar mi empi en ia de un
requerimiento de nuestra empresa, favor de no modificar y cambiar las
instrucciones de instalacion.

Le droit de modifier et de changer mon entreprise, en I'absence d'une mise en
demeure de notre société, s'il vous plait de ne pas le modifier et de modifier les
instructions d'installation.

Het recht van wijziging en revisie behoort toe aan ons bedrijf. Zonderformele
mededeling van ons bedrijf, mag u de i iehandleiding niet wijzigen of
herschrijven.

I diritti di modifica e cambio appartengono alla nostra societa,si prega di non
modificare e iareil d'i i in di un’infor i
formale della nostra societa.

o3 olall ¢ ASHAN (o pan)y lad) a5a g pae die ¢ S8 A giaa il y Jjaadll §sia
LS il Jyansy st

Todos direitos sobre as modificag6es ea alteragGes pertecem a nossa empresa,
néao faga nenhumas modificagdes e alteragdes desta instrugao de instalagdo sem

nossa notificagao formal.

perusahaan kami.
BRAMEENNARTHRAS, ERE
iR

EEREEEEEREBEREEEE BB

m Install on masonry

or concrete wall
(2 men)

m Install on wood stud

(2 men)

N

S

_

8

®
&
B
]

S,

=

(@ Please adjust the interface assembly
position according to VESA

L\

(D Install interface assembly to TV

[ VESA:zooxzoomm-600x400mm]/

Please noted:If the VESA at the lower of TV, the mount may be exposed.

Please choose this installation method.
When VESA is 200*200mm,200*300mm,300*200mm,400*200mm and at the lower of TV,
you may need this installation method.

\.

Hak modifikasi dan perubahan adalah milik perusahaan kami, silakan jangan
memodifikasi dan mengubah keterangan pemasangan tanpa informasi resmi

BARERBHN, BRREUNEER

@ Please adjust the interface assembly @ Install interface assembly to TV

position according to VESA

_\

[ VESA:200x200mm—600x400mmJ

2/2



